55" -

54°

55"

54"

55" 4

54" -

55" 1

54°

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

- -
BSHcmod+W wind: 10m/s BSHcmod+S wind: 10mis
6" T 8 g 6" 7 8 g
27 May (day 0) 27 May (day 0) /
N !
-2 Pl
, il If? 1
e f L
T 7 7 - 55°
e O
G’a ':T'l}‘,l\} ::1’ 3 !:-: :I}
| . R ! ! L
- / s - / s
s Crs
Stokes dnift: OFF = : Stokes drift: ON (50%) - : {
Windage: ON (0.6%) g, Windage: OFF 5 "
/ 28 May (day 1)
28 May (day 1) . ¥
. | L\'@' / [ [ | Y /
it N
D'! @ I:!
=l
0} §
] - 1 - ' - 55°
S &
. R
D
3= 3 1S -
I I i \Jj 1 1 1 L G é
'{/ A/ QG:._E?;‘ 'ﬁ/—' '{/ SR
o e, - e
Stokes dnft: OFF » : '1:___ Stokes drift: ON (50%) " . L
Windage: ON (0.6%) & (_j Windage: OFF 5 '_C} 54°
: — Ij_‘ i — —
i
WY
: "‘;\E (<] |:_'
1
07 & #
5 L a ’dlﬁ' e L 55
T
¢, L,
Q\q'l_ _J_ ‘.‘;%- P
I 7 o i 7 : _1_&_\:3 {;
6-’:5’ f:“,‘i’
Stokes drft: OFF - : '.:__ﬂ Stokes drift: ON (50%) - : -.'L
Windage: ON (0.6%) [ Windage: OFF 5 - .
[r— T — - - [r— I_l;_i - 54
I— —— — ;
30 May (day 3) 30 May (day 3) /
! _ &f / | | _ L& /
Ny it
=2 bl
! i~
(1} (]
s
! | - l". L i I | F - 55
e, b
Gl Gy
. ‘f/ _ G‘qj‘d“j- ::_,> ‘/./ _ | aq;_?- g
Stokes drft: OFF - : L__‘ Stokes drift: ON (50%) - : {
Windage: ON (0.6%) 5, Windage: OFF 5 - 54
6" T 8 9 6" 7 8 g



wind: 10m/s

BSHcmod+S

Stokes drift: ON (50%)

Windage: OFF

54
- 55
- B4

¥ ¥ ¥

-+ u =

[Te] [Te] [Te]
1 L

M,ﬂm vfﬁw _ . P wﬂd-g
tu g H.M.M.Wurf}—w\kﬁ-rl_w mﬂ‘u_r T
\; g T
- 2
i ] : s
L
!
_6 [-=]
3 | : ) i ["
B = &~ i
= O =0 W. =0
53 S 2 gl .
1] | w3 TH T o
= &S o Bs

Stokes drift: OFF
Windage: ON {0.6%)

— - =2
— -
._.II”II—_ /ﬂu 13 E e
i
]
*® -]
7 | ~g L
= —_ —_
% & &
ks =1 ey =1
O = 0= O=
£ 0 £0 & £0
B o E o =] E o
! . s8 . sgl 15 sgl
g g 3 g
EE B2 = B2
n = n = ™ n =
& o B io b o o
uy [T} ul 3 3 w3 3

20 cmis (18 km/25h)

7+

20 cm/s (18 km/25h)

6



55" -

54°

55"

54"

55" 4

54" -

55" 1

54°

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

o i
}% \ A
& @ :'
: o
< | | J
o~ | L 1 S I S I |
;f{ o=
: A
4 ﬂ@ ) < {‘,Ciahl
AW - 12 -
'3':}'_;3" \5\?__{‘?
Cy ey
Stokes dnft: OFF o : '.'W Stokes drift: OM (50%) = ! '-L
Windage: ON (0.6%) . Windage: OFF :
[ A - [r— I_SI;_i -
7 Jun (day 11) &r 7.Jun (day 11) [
n\\}‘jx\ . r}@ .
| z t
I =Y
| (f |I 7
o L)
Y < &g P I
& Ff’ ) xf-'h;-—é"
2| L 9| ¢}
Ve DR
S s
fon £
{.rﬂ.?' A nt
Stokes dnft: OFF o . 'L_,_‘ Stokes drift: OM (50%) = B {
Windage: ON (0.6%) '3 1_\-:] Windage: OFF 5 [:j
6 7 g o 6 7 8 b

55

54

55

54"

BSHcmod+W wind: 10m/s BSHcmod+S wind: 10mls
6" T 8 g 6" 7 8 g
4 Jun (day 8) Q\‘ 4 Jun (day 8)
- R - R
S T \} 7 W ‘t
| (7
({71 ({7
\"5\‘ 5 | 45“’. L I _\'-’\6 = :E' L
E.r JI fl‘”—"—\
b =) b b,
l.'\'.":u "-l {.ST. "k
Ne @ "fr_‘é NS
{.-".’_“_?' {ﬂ,‘j'
Stokes drift: OFF - o (] Stokes dritt: ON (50%) - -
Windage: ON [0.6%) 5 ) Windaga: OFF p r:j
5 Jun (day 8) [ 5Jun (day 9) -
! L 4 ! L J
l Q\‘}\ \ A
L=} i. b @ ;
4 L Uy Is | [
8 [N 8 ir___.,\.
/ LA [ | &=
9 E_':_?';J 9 Vo ;
= B o7
Stokes drift: OFF - 5 L;j Stokes drift: ON (50%) v . L}
Windage: ON (0.6%) § Windage: OFF i
— ﬁ — — —_ -
! !
6 Jun (day 10) 4 / 6 Jun (day 10) C"ﬁ /

55°

54

55

54



55"

55°

54°

BSHcmod+W

wind: 10m/s
7 8 9
I—'

-
BSHcmod+S wind: 10m/s
5 7 8 9"
8.Jun (day 12) [
! 8

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

5
r T | &
Ag 2 49 WL
""m - ﬂs:: T
{,_.,?5; o
Stokes drift: OFF - L Stokes drift: ON (50%) - -y
Windage: ON [0.6%) § - Windage: OFF i r:j 54°
9 Jun (day 13) [ 9 Jun (day 13) |
] | .4\'@: | XN |
g ' \3 t:l'
(= i. @y
|I‘?fl t l
5 = | 5 W
i = : —=f : - 55°
4’76 rll,t‘;’_ﬂl "’ﬁ f'i”' s
| Y b
—p &2
2 'wc? - i ".:“;_,‘J s
flal' s B @
= -
Lo C
Stokes drift: OFF - o\ Stokes drift: ON (50%) * -
Windage: ON {0.6%) P Windage: OFF 5 .
— A — — ﬁ - 54
. | % | ! | _L\\%
0\ 0
|’.-f|ll & Ii
. 3 . g
1 = - T : - 55
/I 6 f /" ’?E {1
i [ Y
.____”9 l&- :Ji:g .d"'fs 4{:321
4% ‘-f‘j;:l_'{j
Bt T o -
Cv &y
Stokes drift: OFF - s Stokes drift: ON (50%) - e
Windage: ON (0.6%) 1 . Windage: OFF 5 . .
— i_ﬁ|:] - — —1 54
11 Jun (day 15) 11 Jun (day 15) /
L
k¢ ‘r ]
| g t
i~ b i~
IJE 'U i 55"
'7'5 — - -_75 Fe L
%5 " ] %5 glrh-'f_\‘
Ll 1 !' L(ﬂ-
T 6‘-(.: 2 e S
i) 2) 1P 2
2 - v
{..—-13_:" g
Stokes drift: OFF - P Stokes drift: ON {50%) - I
Windage: ON (0.6%) e Windage: OFF e
6" 7 g g 6" 7 B a°



55"

55°

54°

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

- I
BSHcmod+W wind: 10m/s BSHcmod+S wind: 10mis
6 T g o 6 7 8 b
12 Jun (day 16) Q\ 12 Jun (day 16) [
L
! | "\Q:_ - ! | AN,
i W
| z t
| (7
U7 U
\‘g& al I \% - - 55"
6 / 6 [k~
N\ M) N\ ; r’}\
[} G‘._ a-r’ir}‘> 9 (:, ﬂ";.sfj:'.“k
1 L
B - ] —
{..—v;*p‘ o
Stpkas drift: OFF o : 'l‘_ﬂ Stokes drift: ON (50%) - : {
. Wlnda,lga:ON [0.6%%) | | § ‘\-:,] - 'U\ﬁrﬂa,lga: OFF | | H r:jl 54°
13 Jun (day 17) / 13 Jun (day 17) /
L Lo
! BN | ! | ENEY |
it ~ Y ‘\‘
(= i. @ |:!
i (1}
-5 ekl -5 : .
886 — ; - a6 f - 55
i”‘ﬁll AN
< | < |
1% = 1= =
[l 1 i
> ¥
Lo C
Stokes dnft: OFF - : 1:__-\:] Stokes drift: OM (50%) - : {"'\j
Windage: ON (0.6%) 5 - Windage: OFF i .
— A — — ﬁ - 54
: —— Ij_l = — |I|I_F
! | X ] . | | L\’{i\%_\
\ "5\ Ny
|’.-f|ll (<] Ii
i 07 . FG* !
- - | p- - 55°
= f = {1
f 7
i 9 {:"\?
/n‘s 4N w_}\ /\9 4} ;.aj}L
4% - 1= -
' R ' BT
Cy 7
Stokes dnft: OFF = : '.:__‘_‘ Stokes drift: ON (50%) = ! '-L
Windage: ON (0.6%) i . Windage: OFF 5 . .
_ i_ﬁ|:] " _ I_l;_i - 54
15 (cay 19 15 Jun (day 1) s
! | | Q\‘\m\ ! | =5 |
IR g \
| z t
i~ b i~
Uy Ui
. dl I - : - 55°
5 5
Aﬂﬁ oy /1”5 E'rh:*'—\‘
i b
. LA . LA
A bagy A o2
= g
{..—-13_:" g
Stokes dnft: OFF = : 'L__‘ Stokes drift: ON (50%) = b
Windage: ON (0.6%) L Windage: OFF 5 54"
6 7 g o 6 7 8 b



55"

55°

54°

LI

BSHcmod+W

wind: 10m/s
6 T g o
I—'

pa

3

PR

-
BSHcmod+5S wind: 10m/s
. - 8 o
_

16 Jun (day 20) [

: ——

pr—

Stokes drift: OFF :
Windage: ON (0.6%) ¢

7 1
) I IJ?
/ (@‘(‘Ig [ 1 - .g/ fﬁi - 55°
of L o b,
P El> - MR
& o
Stokes dritt: OFF - P Stokes drift: ON (50%) < 4
.Windaf;a:ON[ﬂ.ﬁ%J | | § ‘\-? W’lrﬂalga: OFF | | i :] 54°
%) %)
0 L,
T £ T B
) <@
<o © b
L €_‘”’
Stokes drift: OFF - e Stokes drift: ON (50%) v o
Winda?a:ow[u.ﬁ%a | | 5 (_j | Wfﬂa?ﬂi e . . s 15y
Ij_l —— IJ—F

! i I = 55#
R |l
|_ ¢2a

Stokes drift: ON (50%) .
Windage: OFF

[r—
19 Jun (day 23) [

5
-
Aﬁ Gy
| L
l\ 7
i | g

20 cm/s (18 km/25h)

Stokes drift: OFF ol Stokes drift: OM (50%)
Windage: ON (0.6%) i Windage: OFF
6" 7 g8 9 6" 7 B8 \ 9"

20 cmis (18 km/25h)




55" -

54°

55"

54"

55" 4

54" -

55" 1

54°

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

- -
BSHcmod+W wind: 10m/s BSHcmod+S wind: 10mis
6" T 8 g 6" 7 8 g
I ! Q,x“ i : \ L
W !
| el
e f o
ol S - - 55°
_, -
\ %5 L | % © Y
95, | B
[ (-
‘i—-{_w‘ {;"_4
Stokes drift: OFF © / o Stokes drift: ON (50%) - / A
Windage: ON {0.6%) § o Windage: OFF 2 :J 54
/ 21 Jun (day 25)
21 Jun (day 25) " { ¢
X iyl \
D’1 ]
i [
b |
il | : - 55"
£ £
‘{é/ Nl .eé/ IR
) .8
SJ 'q'-n = 3# ‘l“ =
il \Jj s il G
Q'd:'__/ vt
Stokes drift: OFF - o\ Stokes drift: ON (50%) - i
Windage: ON {0.6%) . Windage: OFF -
s : | ¢ o " : . .
i — Ij_l i — —
22 Jun (day 26) / 22 Jun (day 26) T
. | % [ _L\\% .
% "5\ '\3‘\‘3\
i &
| i
0y AL
IS S
=5 3 b
% A 6 3
! )
3$ k q\.:dizk_ Bt Q’a\‘:f}
o e o= -
6—-;31 E:-?;ﬁ‘
Stokes drift: OFF = ‘B\\nC Stokes drift: ON (50%) - .“\\"g
Windage: ON (0.6%) & Windage: OFF i o .
— —— ! —_— 5
23 Jun (day 27) &Eﬂ 23 Jun (day 27) Lg
o &
i 7}
({7 L
o
JEml e - 55
_, o
. P
IR NS
1 | é;?_ié—r) N b Lo
e =
C—-f_k_:f q‘-“./r‘
Stokes drift: OFF - P Stokas drift: ON (50%) - +4
Windage: ON (0.6%) 8 Windage: OFF § :j 54°
6 7 8 6 7 8 9



55"

55°

54°

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

- -
BSHcmod+W wind: 10m/s BSHcmod+S wind: 10mis
6" 7 g8 g 6" 7 B8 9"
i —— I—' i —— "
24 Jun (day 28) &, 24 Jun (day 28) #\
N3 QX\E}
; ;
[ I
(7 W
ST 1 £ - 55°
L] - J !‘ Lﬂ-"‘-
b | CIA &% | &I
Lt N
[ (-
‘i—-{_w‘ {;"_4
Stokes drift: OFF - s Stokes drift: OM {50%) - -
Windage: ON {0.6%) i Windage: OFF i :] ”
/ 25 Jun (day 29)
25 Jun (day 28) - [
\\1 Ly \
D’1 @2 |:!
Uy /)
_ d| i | /«5 : - 55°
| if_,_{ || S 4
\35 pp \352‘5 «h,
3= 3 1S -
| i1 \Jj i il G é
L ot T
=
L €_m4
Stokes diift: OFF - o\ Stokes drift: OM (50%) " -
Windage: ON {0.6%) s (_j Windage: OFF 5 ”
o — Ij_l = —
{
! | %% L4 ! S 4
) bY]
LN {3{ \J FJ‘E
) ? I{\? 1‘
L L f
1 ™
: L : - 65
£
' ¢ | S
LA, Q.{::Lj}l
4= =) 12 g -
s E:"’,‘:’
Stokes diift: OFF - s Stokes drift: ON (50%) - e
Windage: ON (0.6%) P Windage: OFF g - .
e — i_ﬁ|:] i e —— I_l'-_i - 54
27 Jun (day 31) 27 Jun (day 31) /
0 )
1 i~
I} f U
o
T e - 55°
of | | o | 2
e} Mt
to3 0.2
[ o
C—-f_k_:f q‘-“./r‘
Stokes diift: OFF - P Stokes drift: ON (50%) - -
Windage: ON (0.6%) 8 Windage: OFF § :j 54°
6" 7 g g 6" 7 B a°



55"

55°

54°

BSHcmod+W wind: 10mis
6 7 8 9

e L o

BSHcmod+5S wind: 10m/s

7 8 8

20 cm/s (18 km/25h)

(74
o
/é/ Q [ : I{\F : - 55°
£ e ]
() L.
G2 Cohy
%ré ; Nl
E—-/_‘_:f {i-w\ﬂ
Stokes drift: OFF - 9 -lm Stokes drift: OM (50%) - -
Windage: ON (0.6%) i Windaga: OFF i :j ”
/ 29 Jun (day 33)
29 Jun (day 33) - !
\\10 ] I':I
1 1
0} I}
5 /E - - v /f : - 55°
B rfR' v— | [T
:ﬁ;:" . {3\‘;_? L
3= 3 1S -
&7 L]
Lns g
Stokes drift: OFF o e Stokes drift: OM (50%) - -
Windage: ON (0.6%) 8 (_j Windage: OFF 5 ”
7 !
30 Jun (day 34) % 30 Jun (day 34) i\ﬁ
I | oy ] ] l\a\:k .y
iy a I:-'
4 i
U7 (1 /
.5 - o ,ds - 55"
Illl
~g < AN
i &
G2 L,
[ Lt =
s g
Stokes drift: OFF - L Stokes drift: ON (50%) - e
Windage: ON (0.6%) t - Windage: OFF 5 . .
P i_ﬁ|J - [ —1 54
1 Jul (day 35) &f 1Jul (day 35) [
- -
M ]
llll g?! ]I @ ]
\ | I’?
| i 7 \ L
\5 @2 | | \ \\|5_ I{f— | 55»
(3 : - 6 ij:
(5)\ Gy
%‘rj_;: gvc?_:f
E—-{k_:f {i«‘_/p‘
Stokes drift: OFF - o Stokes drift: ON (S0%) - 4
Windage: ON (0.6%) 8 Windage: OFF § :j 54°
6" 7 g g 6" 7 B a°

20 cmis (18 km/25h)




55"

55°

54°

BSHcmod+W

6 T g 9
| L5~

X

-
wind: 10m/s

&

-
BSHcmod+5S wind: 10m/s
. - 8 o
_

20 cm/s (18 km/25h)

: |
1 i~
\ W\ Y, \, u
| LB/ | L . \g —F - 55°
s, Nt
q’a:"ét\l :\‘1’5: "l'}
[ (-
‘i—-{_w‘ {;"_4
Stokes drift: OFF - Sl Stokes drift: OM {50%) - -
Windage: ON (0.6%) i Windaga: OFF 5 :] sa
/ 3 Jul (day 37)
3 Jul (day 37) . »
. Lg, _ | 58
l“d \'\.. .:I’
oy L
s (1) g 73
’,/‘_" ' /ful\ //Ta.‘"“*wﬁ ] /;5 [ L BE*
L
i”‘ﬁll AN
‘1{'} {::C? n
3= 3 1S -
il \Jj - 11 ﬁ é
) T ot T
i
L €_m4
Stokes drift: OFF o e Stokes drift: OM (50%) - -
Windage: ON (0.6%) 5 (_j Windage: OFF 5 ”
: — Ij_‘ = — ——
{
I .%%_ﬁ . ! L\l\‘a\:’h .
3 wﬁ W)
'
"\. &y \. ay
5 | S (74
U Wb
8| & | B y } - 55
Il 1
[ S
G2 L,
A - 1%t -
20 Loe
s E:"’,‘:’
Stokes drift: OFF - o g Stokes drift: O (50%) - e
Windage: ON {0.6%) i o Windage: OFF 5 .
5 Jul (day 39) &t 5 Jul (day 39) /
! | 'Xﬁ - ! | S8 e
\ N
& Ri y- -
(13 g‘
g & | g € s | st
& £
e} s
2 2
$o.3) o2
[ o
{j—-f_k_:f q‘-“./r‘
Stokes drift: OFF - S Stokes drift: O (50%) - -
Windage: ON (0.6%) 8 Windage: OFF § :j 54°
6" 7 g g 6" 7 B a°

20 cmis (18 km/25h)




BSHcmod+W wind: 10m/s BSHcmod+S wind: 10mls
6 7 g8 9 6" 7
6 Jul (day 40) % / 6 Jul (day 40)
% ol
!
8" { (f
55° - € 45"- L I 1
i
G.,C';.;E.\}
A
“’,,;_g
Stokes drift: OFF - S Stokes drift: OM {50%)
54" Windage: ON [0.6%) 5 ) Windaga: OFF
7 Jul [day 41) { 7 Jul (day 41)

L=}
/ (11
550 { i

Tom, H_.,
“.J.s_f
) E;____/
Nar-d
Stokes drift: OFF - e
Windage: ON (0.6%) P
54p . — A —
!
8
] ]
55° - | Q [N
‘I@J\
o
~ —
Stokes drift: OFF ° : n:ﬂ
.| windage: ON {0.6%) &
54" - — ——
55" -

Stokes drift: OFF
54 Windage: ON {0.6%)

Windage: OFF

Stokes drift: OM (50%)
Windage: OFF

I

Stokes drift: OM (50%)
Windage: OFF

[

Stokes drift: OM (50%)

6" 7
20 cm/s (18 km/25h)

6" 7
20 cmis (18 km/25h)




55"

55°

54°

BSHcmod+W

wind: 10m/s
6 T g o
I— e E——1

BSHcmod+S
6 7 8
_

wind:

9

10mis

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

i
7|
) ¥
g Q - - RG f\F : - 55
i
2 [
! s
G2 o
%ré ; Nl
Cons Eov
Stokes drift: OFF - . -lm Stokes drift: ON (50%) - -
Windage: ON {0.6%) i Windage: OFF 5 :] 54
= _ _ F _ Jll_
/ 11 Jul (day 45)
11 Jul (day 45) . »
g W \
D’1 ) @y
L0 I 5t
| il | J | . 5
Q =
) h E:u h,
3= 3 1S -
il \Jj - G
L) f
Stokes diift: OFF - o\ Stokes drift: OM (50%) - -
Windage: ON (0.6%) 4 (_j Windage: OFF 5 sar
o — Ij_l = — ——
{
3 wﬁ !
(.rll l")l:_'
1
% I“".I % 'ﬁf
| 5 L i | ,P L 55»
Ill
[ S
G2 Q,{::Lj,"%l
[ Lt =
s g
Stokes diift: OFF - s Stokes drift: ON (50%) - e
Windage: ON (0.6%) ¢ 3 Windage: OFF g - X
—_— —— B e —_— 1 54
13 Jul (day 47) 13 Jul (day 47) /
. | N | | (.
) W
z?i GI
< 97 =
g 1 = - 55°
e} s
¢ S
i Ve
S &y
Stokes diift: OFF - . Stokes drift: ON (50%) - 50
IL_—. i
Windage: ON (0.6%) 8 Windage: OFF § :j 54°
6" 7 g8 9 6" 7 B8 9"



55"

55°

54°

-
BSHcmod+W wind: 10m/s
6 T g o
I— e E——1

-
BSHcmod+5S wind: 10m/s
. - 8 o
_

20 cm/s (18 km/25h)

20 cmis (18 km/25h)

\
n{% ﬁ r? :
L b
/& ST - - 55
i
b1
s, Nt
¢ Gty
%. Wi ;; L L=
Covs Eov
Stokes drift: OFF - . Stokes drift: ON (50%) - -
ol i«
Windage: ON {0.6%) § o Windage: OFF 2 :J 54
= _ F_ F _ Jll_
/ 15 Jul (day 48)
15 Jul (day 49) . »
i BN ! . | \éki’
3 N
D’1 @ I:!
Py
i /EJF i f@l
/ = L //' M-g - 55"
M L
'8
] C-!‘ kY b -—-w\
3= 3 1S -
il \Jj - G
3 G:'_‘:/" 3 €_§J
L f
Stokes diift: OFF - o\ Stokes drift: OM (50%) " -
Windage: ON (0.6%) 4 (_j Windage: OFF 5 sar
o — Ij_l = — ——
{
! 58 . L\ﬁ? .
¢ W
(.rll [+ |:_'
1
(1 (57 #
6 : —r 6 ,"‘25 : - 65
[ S
G2 L,
[ Lt =
95
s g
Stokes diift: OFF - s Stokes drift: ON (50%) - e
Windage: ON (0.6%) P Windage: OFF 5 .
e — i_ﬁ|:] i e —— I_l'-_i - 54
5 5
z?{ =]
! i~
- / :
o
/ A —F - 55°
e} s
2 2
é‘ﬂ'@ gvc?_:f
S &y
Stokes diift: OFF - . Lﬂ Stokes drift: ON (50%) - -
Windage: ON (0.6%) 8 Windage: OFF § :j 54°
6" 7 g g 6" 7 B a°



55" -

54"

55°

54"

BSHcmod+W wind: 10m/s
6 7 g o
I— —

Stokas diift: OFF

Windage: ON {0.6%)

——

Stokes diift: OFF

Windage: ON {0.6%)

I
BSHcmod+S wind: 10m/s
3 7 8 9
I — E—

¢« [
1 = - 55°
i*"b"
b
-
Gty
S 3
e
Stokes drift: ON (50%) - : {
Windage: OFF j
= . | id |
F _ f_
19 Jul (day 53) [
! | N i
T
el

Stokes drift: ON (50%) = - 4

Windage: OFF :‘: :j 54°




